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AL BB LLIET 1,052| 1,227 1,324| 2,551
JLEEHT 2,307| 27758| 3,013| 5771
HEBCHT 40 39 56 95
A& B O HT 20 28 36 64
& <FHT 24 36 37 73
PE &0 5 <F T 36 45 43 88
FiENHT 552 624 686] 1,310
76 718 N ET 117 105 109 214
b8 A BT 21 29 38 67
ako0=1: 29 35 40 75
B aET 32 44 35 79
1 HT 47 60 77 137
A HT 62 78 78 156
ZEHT 53 49 63 112
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F T 47 70 77 147
= RHT 46 44 52 96
R ET 32 42 46 88
Eoikanlidl 35 33 45 78
IR BT 67 70 94 164
HaET 41 53 59 112
S FHHET 49 47 60 107
N 188 226 253 479
= A BT 1,076 1,205 1352 2557
= H O 81 84 101 185
Fift = HT 12 11 11 22
it EHT 93 99 112 211
EHT 18 19 22 41
= EHT 43 52 56 108
H—TH 26 19 20 39
H_—TH 27 36 35 71
HM=TH 920 100 117 217
HMmTH 33 39 41 80
HMATH 68 70 79 149
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HI<TH 74 73 82 155
A= HT 34 31 34 65
iF SR = BT 49 63 65 128
L XITHT 47 48 46 94
BRI HT 122 89 109 198
HNET 829| 1,087| 1,164 2251
B [E T 103 118 114 232
75 it BT 224 254 268 522
FAHT 232 328 349 677
K HETE 39 50 59 109
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KEHET 114 115 144 259
b 223 264 294 558
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KIEET 20 23 25 48
% R T 9 11 13 24
e LLI BT 275 299 293 592
b, B T 66 67 72 139
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i [ T 93 113 129 242
=k 461 455 540 995
Y, e T 225 221 252 473
LT 428 486 525 1,011
[/ Et) 11,454| 13,132 14,494| 27,626
21 - ET 1,917| 2,296| 2487| 4,783
7% T 83 107 109 216
FZHT 132 178 173 351
AR EHT 192 214 232 446
X 3BT 155 170 209 379
[/ &) 2,479| 2965/ 3210| 6,175
% EHHET 1,041 1,272| 1,275 2547
Yk T 781| 1,000 1,073 2073
54 )1 BT 101 139 161 300
FHT 1,223| 1552 1678] 3,230
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LI FH BT 227 279 282 561
5 H LLIHT 1,205 1,438 1577[ 3,015
FHHET 615 723 772| 1,495
SR Ji7 ET 865 1,110 1,156] 2266
[/ &) 6,058] 7,513| 7974 15487
=80T 61 95 101 196
T =488 967| 1,114| 1285 2,399
gl 1,045 1,237 1428 2,665
= HRET 267 370 395 765
KiTHET 34 57 62 119
= B Ey 21 25 22 47
F F EPHT 116 182 209 391
XiRERT 451 489 427 916
[/ Et) 2,962 3569] 3929 7498
12 H BT 194 267 279 546
A BT 46 67 82 149
=] 357 382 451 833
F ST 68 103 119 222
A 3k T 38 64 63 127
5L HT 215 310 319 629
Y A% T 35 56 70 126
FE L KHT 60 95 88 183
# AT 67 103 109 212
[/ Et) 1,080| 1447 1580 3,027
K& <FHT 105 120 148 268
J\SEHT 138 211 236 447
Gi: 2N 123 153 170 323
5 ElFFET 751 866 838| 1,704
=T 187 217 270 487
iz 52 72 74 146
FaHT 110 149 152 301
th SR ET 366 455 441 896
55 F] T 405 483 489 972
X8 FH &R <F AT 23 28 40 68
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6 FH &R AL BT 1,040] 1,337| 1.419] 2,756
AR FOHET 67 80 92 172
[/ Et) 3411 4220] 4441 8661
/N SRHET 4558 5328| 5810| 11,138
INFRET 1,032] 1,284| 1,324 2608
B i 558 702 730( 1,432
AT 331 380 400 780
=2 T 53 78 76 154
/NER T 351 483 484 967
ith 2z PN ET 146 184 176 360
A Fh T 210 313 314 627
Jiti [58 =F HT 318 410 426 836
78 FH P ET 452 511 519 1,030
INRETER—TH 126 128 155 283
INRETER_TH 125 115 123 238
INRETER=TH 213 290 311 601
INKETEE—T B 24 25 27 52
INKBTFEZT B 50 58 63 121
INKBTEE=T B 72 86 81 167
[/ Et) 8,619 10,375| 11,019 21,394
[ & ) 36,063 43221| 46,647 89,868
AN P 3 472 430 438 868
(& Ef) 36,535| 43,651 47,085 90,736




